
計算検定テスト問題（２級達人）

６年（ ）番 名前（ ）

1 14 ３５１ 27 ３ １ 40
□×９＝７２ ＋ １９８ × ４ ７ ５

２－
８

2 15 ２３７ 28 ７ ８ 41
□×６＝９０ ＋ ２９０ × ８ ２ ０．２＋０．７

3 16 ３７９ 29 ６ ９ 42
４５００×１００ ＋ ５６ × ９ ０ ０．５＋０．５

4 17 ４０８ 30 ２３５ 43
３００×８ ＋ １９２ × ２４ ０．８＋０．６

5 18 ５７８８ 31 ４０５ 44
＋ １２３５ × ３４ ３．３＋４．９

２８００×１００

6 19 ７００ 32 45
３ １

８２÷９ － ６２ ー＋ー
５ ５

２．７＋７．３

7 20 ７１６ 33 46
２ ６

７６÷７ － ６８０ ー＋ー
８ ８ ４．４＋３．９

8 21 ８１０３ 34 47
２ １

２９０÷６０ － ５５４５ ー－ー ６．７＋１．９
６ ６

9 22 ３ ８ 35 48
４

６３００÷９０ × ３ １－ ６．７－１．２
１０

10 23 ５ ０ 36 49
５

５５０÷１０ × ７ １－ ３－０．６
８

11 24 ４ ９ 37 50
６ ４

× ６ ＋ ９－２．８
２０００÷１０ １０ １０

12 25 ３０５ 38
６ １

２００＋８００ × ４ ー－ー
７ ７

13 26 ５３３ 39
８

１２００－３００ × ７ １－ー
９


